Section—C 2x14=28
(Long Answer Type Questions)

Note .— Answer any fwo questions. You have to delimit

your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. Critically examine the law of Diminishing

marginal utility.
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11. Why does demand curve slope downward from left

to right ? Explain.
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12. Describe the meaning and characteristics of

indifference curve.
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13. Explain the marginal productivity theory of

distribution.
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Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given
instructions.
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Section—-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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(iii)
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Note —
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Define Business Economics.
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What do you understand by ‘Demand
Function’ ?
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What do you understand by Opportunity
Cost ?
STIER NG & A9 R F9ed 2
What is Imperfect Competition ?
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What is Net Profit ?
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Define Quasi Rent.
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Define Oligopoly.
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Section-B 4x7=28
(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries

7 marks.
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. What is the ordinal approach of measurement of

utility ?
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. Discuss any two types of elasticity of demand.
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. What do you mean by Iso-product curve ?
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. Explain short-term cost curves.
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. Write four differences in perfect and imperfect

competition.
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. What is kinked demand curve ?
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. What is gross interest and net interest ?.
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. What do you mean by Gross National Product ?
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